ERAR—YKRE REHE

Buis (REM)

TFRE (2EH)

[ HIERTIRZ Ba
147 BR 2472
27 k& 2332
311 R 1736
44 KBR 1708
541 40 1677.5
6 i eI 1562.5
7 RED 1442
81 HE 1439
91 FE 1426.5
1 01 IR ER 1317.5
114 jbEE 1305
121 i=d 1284.5
1341 fam 1219.5
144 = 1192
1541 L 1148
1611 BIE 1115
171 £ 1113
1 81 & 1099.5
1941 IN=] 1059
2 01z AER 1054.5
2 01iI BERE 1054.5
2 241 F2) 1050
2 31 B 979.5
2 441 R 965
2 54 A 958.5
2 611 1LZY 907
2 741 BB 906
2 811 wa 901.5
2 94 X5 893.5
301 =500 865
3141 all 863
321 =y 840
3311 Ll 838
3311 BE 838
351 v 828
3611 =R 826
3711 =S 801.5
3811 SEil| 782.5
3911 = 780
4 01z RIG 767.5
4 147 BiR 740
4211 SR 724
4 311 BF 704
4 447 ELl 685
4 541 X 684
4 611 eI 663
4 711 FOFRLL 656

&£z EERTIRH /=
14z BR 1287
2fi1 H&E 1204
3£ KB 973.5
4 i1 BE 908.5
5fI I=4E 883
6 fi 250 867.5
7 i1 FE 806.5
811 R/ 794.5
9fiz IR E2 764.5
104z & 750.5
1141 HE 747
1241 BB 728.5
1341 REB 724.5
1441 IN= 697
1541 EE 693.5
1611 (FATHN] 679.5
1741 g 661.5
1811 = 634.5
1911 =H 624
2 01z (11w 614.5
2 141 F#) 614
2211 itisE 607
2 31 ¥ 604.5
2 441 BRS 582
2 541 5 569
2 61 =y 562.5
2711 AR 558.5
2 81 (TS 537.5
2 91 S 537
301z LAz 535
3141 e 534
32141 alll 532
3311 K7y 524.5
34141 T 501.5
3511 =i 493
3611 BH 485
3711 v 477.5
3811 =F 474
391 =1 471.5
4 011 BiR 470
4 141 ms 458
4241 FXHE 450
4 31 =S 432.5
4 411 AR 428.5
4 51 =0 422.5
4 611 =R 413
4 741 RI% 397.5




